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Answer Sheet: Prepositions after Nouns 2

Choose the correct answer.

Q1 - They have no hope succeeding.

I:I for

v of

(1 on

Q2 - Thescandal did alot of harm hisreputation.

D of
I:I for

v to

Q3 - It'sno substitute thereal thing.

[ o

v for

D with

Q4 - Shesaid the articlewas an attack the gover nment.
[t
v on
I:I between
Q5 - The cost living isvery high.
v of

I:I for
L] 1o
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Q6 - What'syour opinion the book?

] to
I:I for

v of

Q7 - The contrast what happened last time was striking.

D of
v with

I:I for

Q8 -1 havenofaith their plans.

|:| on
[ a

v in

Q9 - They'veraised thetax fuel.
v on

Dof
I:Iin

Q10 -1 don't liketheir way doing things.

I:I in
v of

[ o
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